Model Question of SSC Examination-2016 (All Board)

Mathematics Subject Code [1]0]9

Time — 2 Hours 10 Minutes (Creative) Full marks — 60

[N.B. - The figure in the right margin indicate full marks. Answer six questions in total, taking twe from Algebra part, two from
Geometry part, one from Trigonometry and Mensuration part and one from Statistics part.|

Algebra

1. » x, y are two real numbers in which their summation is«ﬁ and
subtraction is 43

a. Find the value Df'\ﬁ. 2
b. Prove that, xy(x* + y*) =2 4
1
c. Ifa=2x, then, find the value of a’ . 4
g pd ol d .
. P Jand? y are two expressions.
4x
a. If 1st expression = 2nd expression show that a = X—er; 2
a+2x a+2 :
b. Prove that, + 1 _ 2 from obtained value 'a'. 4
a—-2x a-2y
a+ a-+ .
c. If—=+3L=7 then show that, 2 expression = 4
a-x a-y a
3. » The 4" terms of geometric series is 2 and the 8" terms is 8.
a. Express the information by equation 2
b. What is the 3™ terms of the series. 4
¢. Find the sum of first 10" terms of the series. 4

Geometry
4. » P is a point outside a circle ABC with centre O and two line
segments PA and PB.

a. Present the figure according to the above information. 2
b. By joining A and B then produce chord AB prove that DP line is
perpendicular to AB. 4
c. If another circle with a centre Q, insect at outside point M the
circle with O, show that, O, M, Q are colinear. 4
5. »
A
O
B D C
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In the figure AB = 6cm, AC = 4cm, CD = 2cm and O 1s any point in
OB. Line segment AD bisects ZA of AABC.
a. Are AABD and AACD similar angled or not write it with

argument, 2
b. Find the length of BD. 4
c. Show that, AAOB : AAOC=3:2 4

6. P In the triangle, the base adjacent two angles are respectively 45°
and 30° and perimetre is 8cm,

a. Show the information in the figure. 2
b. Draw the triangle. [Sign of construction and description is must] 4
¢. Draw an ex-circle of the triangle. [Sign of construction and is must] 4

Trigonometry and Mensuration

7. » From a helicopter above A point O between two kilometre posts,
the angle of depression of the two points A and B are 60° and 30°

respectively.
a. Draw a rational figure with short discription. 2
b. Find the height of the helicopter from the ground. 4

c. Find the direct distance from the point A and B of helicopter. 4
8. » ABCD is a parallelogram. The length of the adjacncent sides are
12¢m and 8cm. The length of the smaller diagoiial is 10cm.

a. Draw the figure according to the above information. 2

b. Determine the length of the O the diagonal of the paralielogram. 4

c. Find the area of parallelogram ABCD. 4
Statistics

9. » The frequency distribution table of the marks obtained in
Mathematics of 80 students of class X in a school.

Drawa | |- |11-20( 21- | 31- | 41- | 51- | 61- | 71- | 81- | 91-
tableto | 19 30 | 40 | 50 | 60| 70 | 80 | 90 | 100

Frequency| 2 | 5 16 | 121 13 |1 20| 5 4 2 l

a. Draw a table to find the value of median and mode from the table. 2

b. Find the median and mode. 4
c. Draw an ogive curve fmm the table. 4
3!5+3,[ | 7. b.433.013m.(App.) ¢. 500m. £46 03 (App.)
(2" 2_) (‘*““’_” ') 8. b.17.78 cm. ¢, 79.37 sq. cm.(App)

car' =8 b2 3l 9. b. 448462 (App.) 341818 (App.)

cm

U =
= T
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Multiple Choice Questions

Time — 40 minutes  Full marks— 40 Subject Code

{IVB. Answer all the questions. Each question carries one mark. Block fully, with a ﬁﬂff-pﬂ:;f:léeﬂ. the circle of the letter that stards for the corvect/best
answer in the "Answer sheet'" for multiple choice questions Examination, Candidates are asked not to leave any mark or spot on the question paper. |

1. Which one is the rational number?

@ 100x ® x
@ V12 ® /16 © x+x% @ 100+x
© \rﬁ @ -\ﬂ‘é 10. What is the value of x7
2. How many proper subsets of A = {1, 2, @ 100 ® 10x
3}?
®3 ®4 ©5 @7 I i .
3. IfP= {11 - 3 3}‘ Q: {11 3’ 4} then— 11. What -}IS called to draw a geometric
i. P-Q={1} figure’ _
- = @ Theorem ® Construction
ii. PnQ={2,3}
iii. 8 is aelement of P(Q) © Corollary @ Postulate
Which one is correct? 12.
i&i @ i&ii
© u&ii @ i, 11 & i If STIQR and ZPST = 60° in APQR
4. Ifx—2is one of the factor of X’ = x - 6 Q="
then which one is the other factor? 30° ® 50°
X +2x+3 ®x2+2x+3 © 60° @ 120°
©® x'-2x-3 @ x'+2x-3 13. In the figure, if BC || DE.
5. If2a —§= 3 then, what is the value of A
a?
-2 ®0 ©l @2 D E
6. Which one is the scientific form of
7750? B C
77x100 ® 775x 10° AB _AC
® 077x10° @ 7775 x 10° "’AD ~ AE
7. Ifl x = 4 then, what is the value of AB AC
%8\J4 AD AL
<? "“BDCE
| . AB_AC
@5 ®2 ©4 DI6 "-'BC T DE
Answer to the question no (8 - 10) Whif’h ouge is W"‘E“?
according to the information: }‘& W ® I & ot
Tk. x is the profit of tk. x for one year at the 14 ?f" & mh . EI? 3 III & n;',g,a. o
rate of profit x%. . In figurc what is the vaiue of ZA
8. What is the rate of profit? .!.. s
% X X X @
i ®3 O7p 97
9. Which one is equal to the value of ) . .
capital? 0 @60 © 90 @ 180
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Answer to the question no. (15 and 16)
according to the information:

i5.

16.

17.

18.

19.

20.

21.

A

. 4

B C
Which one is correct?
@ LACD=ZACB + ZABC
® <£ACD=ZABC+ ZBAC
© ZACD= ZBAC+ ZACB
@ ZACD=_-ZABC

D

ZABC + ZBAC = what?
60° ® 90°
© 120° @ 180°
In a circle.

i.  All diameters are equal

ii. The diameter is the largest chord
iil. Degree measurement is 180°
Which one is correct?

i & ii ® i & iii
© i & iii @ i, i1 & iii
If cosB =3'2E then, 8 = what?
30° ® 45° © 60° @ 180°
If sin B =-;-then, which one is the value
oftan® ?
1 |

- ® —=

v: g

© 3 O

What if the value of depression Angle,
A length of wall and the length of
shadow quality?

30° @ 45° © 600 @ 90°
What is the elevant angle of the sun on
a ground point which iswﬁ metre far

22.

23.

24,

25.

26.

from the foot of a B metres high tree?

@ 30° ® 45° © 60° @ 90°

If a, b, ¢ is ordered proportional, which of
the following is correct?

a’ =bc ® c*=ab

© bi=ac @ ab=bc=ca N

The length of a side of square is 80
metres. If the length of each side is
increased 10% —

i. length of every size is 88 m.

ii. area will increase 21%

ii. length of diagonal will increase

lﬁ'\ﬁ m.

Which one is correct?

P& ® i & iii
© i &iii @ i, ii & iii
1.5
0 E

If figure AB=3 cm. OE=1 cm. AE =

b |

cm. then OA = what?

@ 1 ®15 ©18 @2

If there is a unigue solution of the
system of equation a;x + byy = 0 and
a;x + byy = 0, which relation will be
made?

a;_b a_a
Pan Ou ks
a b a_%
© a; ¥ b, @ b, " by
What is the power of any number with
out zero?
® 0 ® 1
© infinites @ finite
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27.

28.

29.

30.

31.

If twos traight lines are what will be
the number of their solution?

@ no solution & numurous

© unique @ 2

If the n™ terms of a series (2n + 1), then
what is the sum of 6" 7" and 8" terms
of the series.

@ 40 ® 41 ©43 @ 45
Which is the following common
difference of series log 3 + log 9 + log
2T 4 cnnes

® log3

© 2log3
J+9+27+81+
i, itis a geometric, series

1.  common terms of 3"

iii. the sum of n terms = a(l -1

I §

® log9
@ 3log3

Which one is correct?

@ i&ii ® i & i

© i & i @ i, it & iit

What is the number of symmetrical
lines of a square?
@ 1 ® 2

©3 @4

Answer to the question no (32 -34)
according to the information:

A

5

A

[ ]
B
C™;

3s.

36.

37.

38.

39.

7 25 16 25
5 ©®7 ©3n 0%
The length of sides of adjacent right
angle of a right angled triangle are 10
cm and 3 cm respectively, what is the

area?
60 @ 30
© 15 @ 10

What is the value of every vertex of a
regular octagon?

@ 135° ® 120°

© 90° @ 45°

What is the ratio of perimetre of
square and circle.

4:n ® n:4

© 2% @ n:2

What is called the information of any
'matter' related?

Mensuration ® Theory of number
© Data @ Statistics
To measure what, cumulative

frequency table is nceded?
@ Arithmatic mean

® Weighted mean

© Median

@ Mode

The characteristics of ogive line—

i. it 15 possibe to draw graph by
cumulative freqneucy

ii. in the graph, higher limit of class
interval is set towards x axis and

- * l:.
y h;':h NnE '(E;h: valu{g}ug AB: © 8 cumulative frequency is set towards y
axis
. sec’d + tan’0 = ’ iii. class mid point is set
@ 1 ® e © s @ 2 Which one is correct?
@ i&ii ® 1& iii
£ I ‘s T
. $in’0 —cos’@="? © ii&iii @ i, ii & iii
% 1__in:_§}_ 2|®|3 @_f_[_@_‘ sl@fs|®]7]@]3]@]9|®|10/@[11/®]12/@]13] EINEHE r‘a:_:_aiif}_ju_r_fz_ﬁ}in_sll@{imi@qu{@
21 (©(22/© |23|@ 24|©(25/©® |26/®|27|® [28/@|29|® [30/® 31|@] 32.@'33 ® 34l@|35 ©|36/@137/© |38|© [39/@ |40/®
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